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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant 
questions, by a panel of subject teachers.  This mark scheme includes any amendments made at the 
standardisation events which all associates participate in and is the scheme which was used by them in 
this examination.  The standardisation process ensures that the mark scheme covers the students’ 
responses to questions and that every associate understands and applies it in the same correct way.  
As preparation for standardisation each associate analyses a number of students’ scripts.  Alternative 
answers not already covered by the mark scheme are discussed and legislated for.  If, after the 
standardisation process, associates encounter unusual answers which have not been raised they are 
required to refer these to the Lead Examiner. 

 
It must be stressed that a mark scheme is a working document, in many cases further developed and 
expanded on the basis of students’ reactions to a particular paper.  Assumptions about future mark 
schemes on the basis of one year’s document should be avoided; whilst the guiding principles of 
assessment remain constant, details will change, depending on the content of a particular examination 
paper. 

 
 

Further copies of this mark scheme are available from aqa.org.uk 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Copyright information 

 

AQA retains the copyright on all its publications.  However, registered schools/colleges for AQA are permitted to copy material from this booklet for their own internal 
use, with the following important exception: AQA cannot give permission to schools/colleges to photocopy any material that is acknowledged to a third party even for 
internal use within the centre. 

 
Copyright © 2023 AQA and its licensors.  All rights reserved. 
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Reading tests  
  
General principles of marking  
  
Follow the mark scheme as set out.  
  
Answers (English or target language)  
1. The basic principle of assessment is that students should gain credit for what they know, understand 
and can do; provided their written response communicates the required message without ambiguity, it 
will get the mark.  The following guidance should be borne in mind when marking.  
  
(a) Credit should be given for all answers which convey the key idea required intelligibly and without  

ambiguity.  This applies whether the answer is in English or target language.  A separate 
assessment  of spelling, punctuation and grammar is not required because of the nature of the 
answers.  However, these aspects are an integral part of assessing communication and marks 
cannot be awarded where errors in spelling, punctuation or grammar lead to a failure to 
communicate the required information without ambiguity.  

(b) Where a student has given alternatives or additional information in an answer, the following criteria  
 should be applied: – if the alternative/addition does not contradict the key idea/make it 
ambiguous,   accept – if the alternative/addition contradicts the key idea or makes it 
ambiguous, reject. (c)  Where numbered lines are given within a question/section of a question, 
credit should be given for   correct answers, no matter which line they appear on.  

(d) Where a question has more than one section (eg (i) and (ii)), a candidate may include as part of the  
 answer to one section the information required to answer another section, eg in Listening,  
 information required to answer section (ii) might be given as part of the answer to section (i).  In 
such   cases, credit should be given for having answered section (ii), provided that no incorrect answer 
has   been given for that section in the correct place on the question paper.  
  
2. In questions where students are asked to give for example a list of three items, only the first three 

items they write down should be considered for assessment purposes.  
  
3. No mark scheme can cover all possible answers.  When in doubt, look for the key idea.  
  
4. Where a student has crossed out an answer and what was underneath remains legible then it should 

be marked.  When part of an answer is crossed out, then only what remains should be considered.  
  
5. .../.. means that these are acceptable alternative answers in the mark scheme.  (.....) means that this 

information is not needed for full marks to be awarded.  
  
6. The following general principles should be applied in relation to answers in the target language:  
(a) Incorrect personal pronouns – accept (unless this causes ambiguity).  
(b) Incorrect possessive adjectives – accept (unless this causes ambiguity).  
(c) Wrong gender – accept (unless this causes ambiguity).  
(d) Infinitive – will normally communicate without ambiguity, so should be accepted.  
(e) Wrong tense – accept as long as student comprehension is not in question.  
(f) Minor spelling errors – accept as long as the answer is understandable with no ambiguity.  This 

means that even if the spelling error results in the creation of a word in another language including 
English, then provided it is a recognisable attempt at a spelling in the target language, it will be 
credited.  
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 Section A  Reading and Translation (Questions 1–5)  
  
Comprehension questions to be answered in target language (Assessment Objective 2 only).  
  
Where the natural answer to a question consists entirely or partly of words or phrases from the 
recording, students may use that material without rephrasing it.  Minor spelling errors which do not 
distort the meaning will be tolerated.  However, the AO1 mark will not be awarded for a response in 
which the student includes irrelevant material or inappropriate information from the stimulus, eg by 
‘lifting’ an element from the original which does not match the phrasing of the question set.  
  
Summary question (AO2 and AO3)  
  

Qu   Accept  Mark  Notes  

01.1  

• ik[uMik tElIivZn pRogramA nal jnqa wI raze / 
s<iB]acark kwrA qe pRBav pEMwa hE .  

• smaj wI soc ¥ bwlx lzI / jnqa wI raze qe 
pRBav pa[ux lzI .  

1  

One mark for any of these 
responses.  

  

Qu   Accept  Mark  Notes  

01.2  
smaijk muSklA ¥ (tElIivZn qe) iv]NgmzI DNg 
nal [ujagr kIqa .  

1  

  

  

Qu   Accept  Mark  Notes  

01.3  
lokA ne (iBRStacar / irSvqKorI we ivru<W) pRwrSn 
kIqe .  

1    

  

Qu   Accept  Mark  Notes  

01.4  
• [unHA ¥ ]am ]awmI nal jufI]A muSklA [u>qe 

iv]NgmzI cot krn wa qjrba hasl hoiz]a .  
1  
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Qu   Accept  Mark  Notes  

01.5  

• izs pRogram ne nOjvan pIfHI ¥ bhuq pRBaivq   
kIqa .   

• izs pRogram rahIM nOjvan pIfHI jA lokA ¥ izh soJI 
hozI ik weS we neqavA jA is]asqwanA wa PrZ 

jnqa wI seva krna hE (na ik lokA qe raj krna) .  

1  One mark for any of these 
responses.  

  

Qu    Accept  Mark  Notes  

01.6  dUNGa   1    

      

Qu    Accept  Mark  Notes  

01.7  hunr  1    

      

Qu    Accept  Mark  Notes  

01.8  soJI   1    
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Summary question (AO2 and AO3)  
  

Qu 02  Key idea  Mark  Notes  

Bullet 1  

pNjabI mrwA we pRvas krn we m<Ku karn hn:  
• Gr lzI kmazI wI iZNmevarI hoxa .  
• pirvar wI malI halq / jIvn p<Wr iv<c suWar krn 

lzI .  

• vWere pEse kma[ux wI iz<Ca .  

2  
Any two of these bullets.  

One mark for each bullet.  

Bullet 2  

mrwA / pqI]A we pvRas krn nal, Cot e pirvarA iv<c:  
• ]OrqA ¥ vWere pirvark iZNmevarI]A inBa[uxI]A 

pEMwI]A hn .  

• ]OrqA Gr wa Krc sNBalwI]A hn / ZrUrI PEsle vI 
lEMwI]A hn .  

• bhuq ]OrqA ]apxe ]ap ¥ qakqvr / ]aZaw  mihsUs 
krwI]A hn .  

2  
Any two of these bullets.  

One mark for each bullet.  

Bullet 3  

mrwA / pqI]A we pRvas krn nal, sAJe pirvarA iv<c:  

• ]OrqA ¥ ]apxe shure pirvar nal rihxa pEMwa hE .  

• ]OrqA wI BiUmka Gr wI sNBal / shure pirvar wI 
weKBal / rotI bxa[uxI / sPazI q<k hI sIimq h E .   

• ]OrqA ¥ pirvar wI]A bNwSA iv<c rihxa pEMwa hE / 
]OrqA ¥ kozI ]aZawI nhIM hE .  

• pirvark PEsle lEx smeM ]OrqA wI kozI slah nhIM 

lzI jAwI .  

3  
Any three of these bullets.  

One mark for each point.  

  
  
The marks for content (AO2) and language (AO3) are awarded independently.  Long summaries will be 
marked for content (AO2) or language (AO3) only as far as the first natural break (usually the end of  a 
sentence or main clause) between 90 and 100 words.  Short summaries are not subject to an 
automatic penalty but in practice are unlikely to include all the required content points and will therefore 
be self- penalising.  
  
The AO2 mark is awarded for content points which contain the required information, regardless of 
whether those points are expressed in the student’s own words, or are partly or wholly lifted from the 
text.  However, no AO2 mark will be awarded for a content point where the student includes irrelevant 
material or copies inappropriately from the stimulus, eg by ‘lifting’ an element from the original which 
does not match the phrasing of the bullet point.  *‘Lifted’ language will not be eligible for credit when the 
AO3 mark is awarded.   
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*Generic example of ‘lifted’ language:  
  
1  
Text includes Having finished her studies, she became a doctor.  
Summary task includes the bullet point What she did before becoming a doctor.  
Correct answer is She studied.  
Student writes in response to that bullet point Having finished her studies, she became a doctor. No 
credit for AO2 because the response does not match the phrasing of the bullet point. (Also no credit for 
AO3 because of lifting.)  
  
2  
Text includes … because computers will replace teachers.  
Summary task includes the bullet point Technological changes anticipated.  
Correct answer is Computers will replace teachers or, to demonstrate successful manipulation, Teachers 
will be replaced by computers.  
Student writes in response to that bullet point because computers will replace teachers.  
No credit for AO2 because the response does not match the phrasing of the bullet point. (Also no credit 
for AO3 because of lifting).  
  
Minor errors are defined as those which do not affect communication.  
  
Serious errors are defined as those which adversely affect communication.  
  
Minor errors include:  
incorrect but close to correct spellings incorrect genders 
and consequential errors of agreement incorrect or missing 
accents unless these alter the meaning.  
  
Serious errors include: incorrect verb forms especially 
irregular forms incorrect use of pronouns missing or incorrect 
agreements of adjectives or past participles.  
  
Complex language includes: 
use of pronouns of all types  
tenses that support conceptual complexity (as in si sentences) connectives supporting a 
range of subordinate clauses including those requiring subjunctive constructions with verbs 
and verbs followed by infinitive with correct preposition use of present and past participles.  
  
The above examples are neither prescriptive nor exhaustive.  
    

Mark  AO3 quality of language marks in listening and reading summary tasks  

5  
The language produced is mainly accurate with only occasional minor errors.  The student 
shows a consistently secure grasp of grammar and is able to manipulate complex language 
accurately where required by the task.  

4  
The language produced is generally accurate, but there are some minor errors.  The student 
shows a generally good grasp of grammar and is often able to manipulate complex language 
accurately where required by the task.  
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3  
The language produced is reasonably accurate, but there are a few serious errors.  The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate complex 
language accurately where required by the task.  

2  
The language produced contains many errors.  The student shows some grasp of grammar 
and is occasionally able to manipulate complex language accurately where required by the 
task.  

1  
The language produced contains many errors of a basic nature.  The student shows little 
grasp of grammar and is rarely able to manipulate complex language accurately where 
required by the task.  

0  The student produces nothing worthy of credit.  

  
  
Indicative content   
  
Summary 1: 92 words – AO3 5/5  
  

Gr lzI kmazI wI iZNmevarI ]qe jIvn SElI we suWar lzI kzI mrw pNjab qoM pRvas kr jAwe hn. Cote pirvarA 
iv<c ]apxe pqI]A wI gErhaZrI iv<c ]OrqA ne vWere iZNmevarI lzI hE . [uh ZrUrI PEsle lEMwI]A hn ]qe ]apxe 
]ap ¥ qakqvr mihsUs krwI]A hn . sAJe pirvarA iv<c ]OrqA ]apxe shure pirvar we mEMbrA nal rihNwI]A 
hn ]q e [unAH wI BUimka Gr wI sNBal q<k hI sIimq h E. pirvark PEsle  lEx iv<c ]OrqA koloM kozI slah nhIM 
lzI jAwI  ]qe na hI [unHA ¥ kozI ]ZawI huNwI hE .  

  
Summary 2: 73 words – AO3 4/5  
  

pirvar dI malI halq ivc suWar lzI mrd pNjab qoM pRvas krde hn, Gr dI kmazI dI iZmedarI lEMde hE . Cote 
pirvarA ivc< pqI]A de pvRas kr jax nal ]OrqA vWere iZNmevarI lEMdI]A hn, ]apxe ]ap ¥ ]Zaw mihsUs 
krdI]A hn . sAJe pirvar ivc ]OrqA ]apxe shuir]A nal rihNdI]A hn, sPazI krdI]A hn . Gr 
sNBaldI]A hn. [unHA ¥ kozI ]ZadI nhIM. [uh PEsle nhIM lE skdI]A. PEsle vI nhIM lE skwI]A .  
  
    
Summary 3: 45 words – AO3 3/5  
  

vWerI kmazI lzI lok pNjab qoM pRvas krwe. mrw ijmevar huNw e . Cote pirvarA iv<c ]OrqA Gr wa Krca 
sNBalwI]A . qakqvr mihsUs krwI]A hn. sAJe pirvar ivc ]OrqA isrP Gr sNBalwI]A . pirvar wI 
weKBal krwI]A . pr PEsle nhIM lE skwI]A kozI ]ZawI vI nhIM .  
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Summary 4: 38 words – AO3 2/5  
  

vWerI KmazI lzI pNjab qoM ij]awaqr mrw pRvas Krwe hn . Cote pirvarA iv<C ]OrqA vWere ijNmevarI lEwI ]te 
PEsle vI lEwI . sAJ e pirvar ivC ]OrqA Gr sNBalwI, sPazI krwI hn . PEsle mrw lEwe hE . ]OrqA nzI PsEle 
lEwI .  
  
  
Summary 5: 24 words – AO3 1/5  
  

mrw kmazI lzI pRvas krwa hn . Sote pirvar ivc ]OrqA ijmevar hE . qakqvr hE . sAJ pirvar ivc ]Orq 
rotI bxa[uxI hE . ]ZawI nhI hn .  
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Comprehension questions (Assessment Objective 2)  

 

Qu  Accept  Mark  Notes  

03.1  

• sare weS wI [u>c-is<iK]a wa zekIkrn krn lzI 
[u>c-is<iK]a kimSn wI sQapna krna .    

• sarI]A srkarI ]qe gEr-srkarI sNsQavA wa iz<ko 
ijhe inymA wI palxa krna .  

• sarI]A sNsQavA iv<c waKle lzI iz<ko ijhI pRIiK]a 
wa hoxa .     2 

  

Any two of three.  
  
One mark for any of these 
responses.    

  

Qu  Accept  Mark  Notes  

03.2  

• iviw]arQI]A ]qe ]iW]apkA wa ]nupaq bhuq 
iZ]awa hE .  

• bhuq iviw]arQI izNnI qr<kI / sFlqa hasl nhIM 
krwe .  

• wsvIM jmaq we kzI iviw]arQI pNjvIM jmaq we 
pRSnA we [u>qr vI nhIM we skwe .  

2  

Accept:  
  
ij<Qe is<iK]a wa p<Wr bhuq 
nIvA hE .  
  
Any two of three.  
  
One mark for any of these 
responses.    

  

Qu  Accept  Mark  Notes  

03.3  

• idgrI kors 4 sal wa hovega na ik 3 sal wa .  
• iviS]A wI bhuq vWI]a cox / iviw]arQI iZ]awa 

iviS]a wI cox kr skxge .  

• idgrI kors ]<W-ivckar C<dx wa mqlb hE ik 
idploma imlega .    

3  One mark for any of these 
responses.    

  

Qu  Accept  Mark  Notes  

04.1  pRwUSx w e sNkt lzI jagrUkqa pEwa krna .  1  One mark.  
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Qu  Accept  Mark  Notes  

04.2  

izs pRogram iv<c (v<K-v<K cEirtI sNsQavA qoM ) kzI 
smaijk karjkrqavA / nOjvanA / iviw]arQI]A ne 

ih<sa il]a .  
1  

One mark for any of the 
responses separated by 
slashes.  

  

Qu  Accept  Mark  Notes  

04.3  

• lokA ne SAqmzI pRwrSn kIqa .   

• lokA ne h<QA iv<c (‘saP hva lzI pOwe lga{’ ]qe 
‘WUNze qe sEMsr la{’ vrge) bEnr Pf ke pRwrSn 
kIqa .  

• lokA ne na]re lgaze .  

2  

Any two of three.  
  
One mark for any of these 
responses.  

   

  

Qu   Accept  Mark  Notes  

04.4  

gReta qoM pReirq ho ke hux q<k l<KA (185 weSA we 40 l<K) 
iviw]arQI sfkA qe [u>qre / kola ]aWairq karobarA 
¥ bNw krn wI mNg kIqI .  

1  

  

  

  

Qu   Accept  Mark  Notes  

04.5  

• sah wI]A ibmarI]A vW rhI]A hn .   

• salana hZarA  (87,400) mrIZ hspqalA iv<c 

waKl huNwe hn .  
1  

One mark for any of these 
responses.  Candidates can 
list either of these.  

  

Qu   Accept  Mark  Notes  

04.6  

• ik[uMik (srkar 15 muPq bUte wex wa pRsqav qA 
kr rhI hE, pr) ru<KA we bca] lzI kozI PNd nhIM   
hE .  

• srkar wa iW]an ibmarI]A we karnA ¥ rokx qe 
nhIM blik hspqalA we inrmax qe hE .  

2  One mark for any of these 
responses.  

  
 
 
 



MARK SCHEME – A-LEVEL PANJABI – 7682/1 – JUNE 2023  

  

12  

Question 5 Translation (into English) (Assessment Objective 2)  
  
Translation into English   
Acceptable quality of English in translations into English.  
  
Errors of spelling  
Where the candidate’s attempted spelling is a recognisable form of the correct spelling and does not 
correspond to another English word, the attempted spelling is accepted eg weight mis-spelt as waight is 
acceptable but mis-spelt as wait gives another word and so causes ambiguity.   
  
Alternative answers  
Examiners will be provided with a range of alternative answers in mark schemes but in the event that 
these do not legislate for all versions and variations which candidates might produce, the guiding 
principle will be that answers that convey the same intended meaning are accepted.     
  
A successful translation  
Translation will be deemed successful if an English speaker would understand the translation and if each 
element of the original text figures in the translation.  
  

Qu    

5  

The table below shows the type of answer that is acceptable for each section of the text.   
  
Award one mark per correct section then divide by two for a final mark out of 10.  Half marks 
should be rounded up.  

Box    Accept  Reject  

1  pihlA iq[uhar mna[uxa  Earlier, to celebrate festivals    

2  ]apxe mhan siB]acar we pRgtave lzI  to showcase one’s glorious culture    

3  ZrUrI mNin]a jAwa sI .  was considered necessary.    

4  pr hux   But now    

5  pEse ]qe ]aWuinkqa wI ]NnHI wOf iv<c  in the blind race of money and 
modernity    

6  kzI pNjabI]A ne  many Panjabis have    

7  iq[uharA w e ]sl mh<qv ¥ Bula iw<qa hE .  abandoned the real significance of 
festivals.    

8  krva cOQ hove, lohfI jA wIvalI,  Whether it is Karwa Chauth, Lohri 
or Diwali,    
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9  ]Fsos wI g<l hE   it is regrettable    

10  ik kzI iwn-iwhar hux that now many festive occasions    

11  ivKava krn we mOke qoM vW hor kuJ vI nhIM  rhe .  remain nothing more than an 
opportunity to show off.    

12  mihNgazI izNnI vW gzI hE  Inflation has increased so much    

13  ik sWarn ]awmI lzI  that for a common man     

14  jSn mna[uxe commemorating occasions    

15  muSkl ho gze hn .  has become problematic.    

16  iPlmI isqare ]qe mShUr klakar  Film stars and famous artists    

17  ]Ese smeM qe  at such times    

18  ]mIrI we JUTe iwKave krwe hn  make false displays of prosperity    

19  pr [unHA vrgI numaizS krnI  but to show off like them    

20  ]am ]awmI wI phuNc qoM bahr hE .  is unaffordable for an ordinary 
person.    
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 Section B  Writing (Research Project)  (Optional questions 6–9)  
  
(Assessment Objectives 2, 3 and 4)  
  
Assessment criteria  
  
Each assessment objective should be assessed independently.  
  
Students are advised to write approximately 300 words per essay.  Everything that students write must 
be assessed; there is no word limit.  Students writing the recommended length have access to the full 
range of marks.  
  
Assessment Objective 2  
  

Mark  AO2  

9–10   

Very good evaluation of the research topic  
  
The relevant information from the written source material has been fully understood.  This 
information is consistently linked to research findings to form appropriate arguments and 
conclusions.  

7–8   

Good evaluation of the research topic  
  
Most of the relevant information in the written source material has been clearly understood.  
This information is often linked to research findings to form appropriate arguments and 
conclusions.  

5–6   

Reasonable evaluation of the research topic  
  
Some of the relevant information in the written source material has been understood.  This 
information is sometimes linked to research findings to form appropriate arguments and 
conclusions.  

3–4   

Limited evaluation of the research topic  
  
A limited amount of relevant information in the written source has been understood.  This 
information is occasionally linked to research findings to form appropriate arguments and 
conclusions.  

1–2   

Very limited evaluation of the research topic  
  
A very limited amount of the relevant information in the written source has been understood.  
This information is rarely if ever linked to research findings to form appropriate arguments 
and conclusions.  

0  The student produces nothing worthy of credit.  

  
For guidance on the evaluation of the written source in relation to the research findings, examiners are 
advised to refer to the indicative content for these questions.  AO2 marks should be awarded for the 
success with which students have demonstrated their understanding of the written source provided and 
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linked information in that source to their research findings.  For examples, see items marked ‘AO2’ in 
indicative content.  
 
Assessment Objective 3  
  
 AO3  

9–10   

The language produced is mainly accurate with only occasional minor errors.  The student 
shows a consistently secure grasp of grammar and is able to manipulate complex 
language accurately.  The student uses a wide range of vocabulary appropriate to the 
context and the task.  

7–8   

The language produced is generally accurate, but there are some minor errors.  The 
student shows a generally good grasp of grammar and is often able to manipulate complex 
language accurately.  The student uses a good range of vocabulary appropriate to the 
context and the task.  

5–6   

The language produced is reasonably accurate, but there are a few serious errors.  The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate 
complex language accurately.  The student uses a reasonable range of vocabulary 
appropriate to the context and the task.  

3–4   
The language produced contains many errors.  The student shows some grasp of grammar 
and is occasionally able to manipulate complex language accurately.  The student uses a 
limited range of vocabulary appropriate to the context and the task.  

1–2   
The language produced contains many errors of a basic nature.  The student shows little 
grasp of grammar and is rarely able to manipulate complex language accurately.  The 
student uses a very limited range of vocabulary appropriate to the context and the task.  

0  The student produces nothing worthy of credit.  

  
 Minor errors are defined as those which do not affect communication.  
  
Serious errors are defined as those which adversely affect communication.  
  
Minor errors include:  
incorrect but close to correct spellings incorrect genders 
and consequential errors of agreement incorrect or missing 
accents unless these alter the meaning.  
  
Serious errors include: incorrect verb forms especially 
irregular forms incorrect use of pronouns missing or incorrect 
agreements of adjectives or past participles.  
  
Complex language includes: 
use of pronouns of all types  
tenses that support conceptual complexity (as in si sentences) connectives supporting a 
range of subordinate clauses including those requiring subjunctive constructions with verbs 
and verbs followed by infinitive with correct preposition use of present and past participles.  
  
The above examples are neither prescriptive nor exhaustive.   
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Assessment Objective 4  
  

Research project essay  AO4  

Mark  Descriptors  

  
  

17–20  

Very good critical and analytical response  
Very good knowledge and understanding of the research topic covered in the essay.  
Students consistently select relevant information to support their arguments.  They 
consistently use appropriate evidence to justify their conclusions, demonstrating a very 
good evaluation of the research topic.  

  

13–16  

Good critical and analytical response  
Good knowledge and understanding of the research topic covered in the essay.  Students 
often select relevant information to support their arguments.  They often use appropriate 
evidence to justify their conclusions, demonstrating a good evaluation of the research topic.  

  
  

9–12  

Reasonable critical and analytical response  
Reasonable knowledge and understanding of the research topic covered in the essay.  
Students sometimes select relevant information to support their arguments.  They 
sometimes use appropriate evidence to justify their conclusions, demonstrating a 
reasonable evaluation of the research topic.  

  
  

5–8  

Limited critical and analytical response  
Some knowledge and understanding of the research topic covered in the essay.  Students 
occasionally select relevant information to support their arguments.  They occasionally use 
appropriate evidence to justify their conclusions, demonstrating a limited evaluation of the 
research topic.  

  
  

1–4  

Very limited critical and analytical response  
A little knowledge and understanding of the research topic covered in the essay.  Students 
rarely select relevant information to support their arguments.  They rarely use appropriate 
evidence to justify their conclusions, demonstrating a very limited evaluation of the research 
topic.  

0  The student produces nothing worthy of credit in response to the question.  

  
AO4 marks should be awarded for relevant evidence drawn from the student’s individual research, (ie 
evidence beyond that in the written source text provided), and for the success with which students use 
that evidence in their essay.  (For examples, see items not marked as AO2 in indicative content).  
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Indicative content  
  
Question 6  
  
Research topic: The role of women in Panjabi society  
  
pNjabI smaj iv<c ]OrqA wI bwl rhI BUimka wa ivSleSx kro . suJa] iw[u ik pNjab srkar, pNjabI 
izsqrI]A ¥ vWere h<k wex lzI hor ikhfe [uprale kr skwI hE .  
  
• A brief background of Panjabi women’s status in society. (A02)  

  
• Delayed age at marriage. (A02)  

  
• Decreased fertility rate. (A02)  

  
• Increased family headship. (A02)  

  
• Lower employment rate. (A02)  

  
• Enforce law for equal pay at the workplace.  

  
• Introduce benefit/pension scheme for working women.  

  
• Set up fast track courts for women.  

  
• Remove loopholes in women’s law.  

  
• Set up rehabilitation centres for drug addicts, prostitutes and mentally unwell women.  

  
• Support campaign against alcohol.  
  
The above is not exhaustive.  
    
Question 7  

  
Research topic: Social issues in the Punjab  
  

pNjab iv<c ]praW krn we DNgA iv<c ikho ijhI]A qbwIlI]A ]azI]A hn ? pNjab qe ]praW we smaijk ]qe  
]ariQk pRBav wa ivSleSx kro .  
  
• The changes in the methods of committing crime. (A02)  

  
• The home, car and business insurance premiums can rise. (A02)  

  
• The costs of crime to businesses. (A02)  

  
• The people may be frightened to go out of their own homes. (A02)  

  
• The people can find it difficult to sell/buy their homes. (A02)  
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• The costs of crime to the Punjab Government.   

  
• The new businesses may avoid setting up in the area.  

  
• The existing businesses may close down because of repeated robberies and loss of earnings.  

  
• The costs of repairing damage from the vandalism.  

  
• The tourism industry may suffer.  
  
The above is not exhaustive.  
  
    
Question 8   

  
Research topic: Tourism in the Punjab  
  
pNjab wI]A G<to-G<t w o pRmu<K ivrasqI sEr-spate valI]A QAvA wa vrxn kr o ? pNjab srkar v<loM ivrasqI 
sEr-spate we ivkas lzI [uTaze gz e kwmA wa ivSleSx kro .  
  
• The development of the Birth of Khalsa museum of Sikhism. (A02)  

  
• Inauguration of an iconic structure of memorials for the freedom fighters. (A02)  

  
• The restoration of Ram Tirath Temple in Amritsar. (A02)  

  
• The restoration of the monuments related to the Mughal Empire. (A02)  

  
• The development of Mughal Sarais – where the Mughal armies used to halt. (A02)  

  
• A masterplan for the Golden Temple to improve tourism in the Punjab.  

  
• The planning of promotion and marketing for tourism in consultation with the United Nations World 

Tourism Organisation.  
  

• The heritage and cultural attractions in and around Patiala are being included into a tourist circuit.  
  

• The Jagatjit Palace in Kapurthala, modelled on Versailles in France, is being opened for international 
tourists.  

  
The above is not exhaustive.  
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Question 9  
  
Research topic: Partition of the Punjab in 1947  
  
pNjab we lokA ¥ 1947 wI vNd we ijhfe wuKwazI nqIje Bugqxe pze, [unHA wa vrxn kro . ivSleSx kro ik vNd qoM 
pihlA jo kuJ hoiz]a [us ne wuKwaizk GtnavA iv<c ikveM yogwan paiz]a .  
  
• Millions of Hindus, Sikhs and Muslims started crossing borders on foot or in trains. (A02)  

  
• The Sikhs of Rawalpindi faced a massacre and migrated to Indian Punjab. (A02)  

  
• The Muslims faced a massacre in Bihar by the Hindus. (A02)  

  
• The berserk mob wiped out Sikh settlements and desecrated religious places. (A02)  

  
• A Muslim mob attacked Shri Harmandir Sahib and assassinated refugees in a train from Pakistan. 

(A02)  
  
• The British policy ‘divide and rule’ on its own cannot be held responsible for the partition.   
  
• The Hindus refused to share utensils with Muslims while eating and drinking.  

  
• The Congress Party had separate pots for the Hindus and Muslims at the District level Offices.  

  
• All the parties could not agree on fair representation for the Muslims in the Assembly or election.  

  
• A written consent for the partition was sought from all the concerned parties.  

  
• Sir Cyril Radcliffe hastily drew lines on the map to determine India and Pakistan’s new borders.  
  
The above is not exhaustive.  
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